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(R4 made from soybeans look more friendly to the environment than

(M5) hungry people

(R96) |They needed about  three hundred seventy thousand dollars.| (R7] o o 7

(F98] | a factory b waste ¢ | money d nature

(1) we feel that it is hard to live without

o
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(r45) A4 | M6 7 h r

(1) Yes, I think so. Technology has given us a lot of wonderful s like TVs, computers,
and smartphones. [ am sure these things have made our lives very easy and convenient. So, I
think the new technologies will also make us happier in the future. (45words)

(2) No, I don’t think so. It is easy to use things like cellphones or smartphones made with

technology, and we can sometimes write wrong things about others on the Internet without

(ps7) |thinking. So, if we don’t use these things carefully, they will sometimes make other people
very sad.  (48words)
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